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SECTION A

Answer ALL questions.

| shows an image of a blood smear.
Figure *°
A

s % ‘

. a EA W s LA

e —

Figure 1. Blood smear

(a) Identify the blood component labelled A and state its function.

............................................................................................................

.................

....................................................................
..........................
...............

[dentify the MOST abundant cell shown in Figure [

& O
(1 mark)
(i)  State the MAIN function of the cell identified in (b) (1) and give TWO ways in
which it is adapted for its function.
.............................................................................................................. (3 marks)
0125 GO ON TO THE NEXT PAGE
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Table 1 and Table 2
e positive for the heI‘FK;S.:l ;":]tl;e number of males and females, aged 18-50 years. who tested
plex type 2 virus and human papillomavirus (HPV), respectively.

3:%:3.'
v:]l in a certain country.
;ﬂj:.
& TABLE 1: MAL
e : MALES
AND FEMALES WITH HERPES SIMPLEX TYPE 2
Age Group Nllm.ber of Males | Number of Females
(years) .w:th Herpes with Herpes
Simplex Type 2 Simplex Type 2
18-25 190 [ 145
26-33 125 115
3441 170 191
42-50 95 80
TABLE 2: MALES AND FEMALES WITH HUMAN PAPILLOMAVIRUS (HPVY)
Number of Males Namber of Females |
Ag(ee(a}::)up with Human with Human
Y Papillomavirus Papillomavirus
18-25 125 160
e e
26-33 105 115
3441 140 ;L
42-50 95 /ﬂ/

(iy From Table 1, identify the age group among the males which had the HIGHEST

incidence of herpes simplex type 2.

(1 mark)

01253020/MJ/CSEC 2022 GO ON TO THE NEXT PAGE
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i)  Explain why a high incidence of
; . herpes si . .
in (¢) (i) would be a public health cfnses,-'nmplex type 2 in the age group Idenif

.......................................................................
..............................................
......................................................................................
...................................................................................
.........................................................................................................................

.......................................................................
.......................................

(iiiy  Based on the data in Table 2, state whether the human papillomavirus is more

prevalent in males or females.

................................................................................................................

the high prevalence of the human papillomavirus among males and

(iv) Explain how
ct the economy of that country.

females can impa

.................................................................................................................................
.................................................................................................................................
.................................................................................................................................
.................................................................................................................................
.................................................................................................................................
.................................................................................................................................

.................................................................................................................................

.................

Total 15 marks
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2. () Write the balanced chemical equation for the pr —_— P

DEIG

Carbon fixation — .

by consumers %%

W ;
Fossils an! fossil fuels /\_/

Figure 2. Carbon cycle

(i)  Identify the processes labelled X.Y and Z in Figure 2.

2ot s cnssessenssenimvassenaseas RS SRR TS SRR An T BRI SARAANSSAIA S SEES AR TR LA R SRR AR 8
(3 marks)

GO ON TO THE NEXT PAGE
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| e ONE Omalf h'
Nposition in Fi
Igul-e 2.

(1)
The residents in a village clear land for agriculty (1 marki
© oSS re by buming away trees, sh
g s, shrubs a4
(i) Discuss how this practice could contribute to o
global warming.
“ marl.(',‘g').
. Explain ONE way in which global warmi .
(i) EXP ng could impact Caribbean territories,
2 marl;é.)'
(iify ~ Suggest THREE ways in which carbon emissions could be reduced.
(3 marks)
Total 15 marks
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Figure 3 shows four stages in the process of mitosis

(a) (i)

(i)

(iii)

(iv)

Figure 3. Process of mitosis

Define the term ‘mitosis’.

Identify the stage. A,B,CorD.in Figure 3 which shows the telophase.

T mark)

State the type of reproduction in which mitosis takes place.

(lmark)

State TWO features of the process of mitosis.

................

................................................
..............................................................

GO ON TO THE NEXT PAGE
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| - 5 . . lh >
ure 4 shows a comparison of the contraceptive methods used and the ump,, "

Fi : |
( rffgnancies in women between the ages of 15 and 40 years.

p

140

120

100

60

40

20

MMM

’ Sterilization Intrauterine device

Number of women

traceptive methods used and
men aged 15—40 years

& Number of pregnancies

Figure 4. Com parison of con
the number of pregnancies in Wo

ulted in the LEAST number of

: d which res ;
the contraceptive metho OST effective.

™ i lain why this method is the M

pregnancies and exp

....................
.........
.....
........
.........
.......
........................
................
...........
.............
.......

..........................
..............
........
................
.............
----------------------
.........
..........
...........

...........
.............
...................
...................
.....................
...........
.............
......................

GO ON TO THE NEXT PAGE
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(i) Identify the contraceptive method which resulted in the GREATEST number of

pregnancies and explain why this method is the LEAST effective.
............................. (3 marks)
(iii) State which of the other contraceptive methods in Figure 4 was shown to be as
effective as the pill.
(1 mark)
iv)  Suggest TWO reasons why the degree of effectiveness for the pill as shown in
V .
‘¢ Figure 4 is not as high as expected.
(2 marks)
Total 15 marks
GO ON TO THE NEXT PAGE
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i tinguish between 2 ‘pandemic’ and an ‘epidemic’.

D
a :_
4. ( ;
3
N
N
(2 marks) f§
drugs and their classificati . R
ble 3 shows selected drugs ion. Complete T, _ S
(b) :fissing drug or its classification. The first row has been com[;Ieteed ?cl:):eygut.)y i 3
TABLE 3: CLASSIFICATION OF SELECTE] DRUGS
M) =
Drug Classification
Cocaine Stimulant
..................................................... Sedative
Heroin
it
(2 marks)
GO ON TO THE NEXT PAGE
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(c) Figure 5 is a g_raph which shows trends observed in the smoking of cigarettes and the
practice of vaping among secondary school students in a certain country.

40%
36.5%
Vaping
- 26.7%
20% :
n Cigarettes 16.3%
10%
7.6%
l J ! 2018
1997 2000 2003 2006 2009 2012 2015
Figure 5. Trends in cigarette smoking and vaping
among secondary school students
the
be observed from
(i)  State ONE healthy trend and ONE unhealthy trend that can be 0
graph in Figure 5.
................................................................................................................. ( i;mrks)
GO ON TO THE NEXT PAGE
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..+ Nicotine impairs brain development resulting ;
i) : S g1inalack ‘
( Explain ONE social impact an_d ONE economjc impaocrt i(l:ws and poor _jILIdgcmCm'
unhealthy trend observed in Figure 5. at could result from .

............................................
..........................
................
...............................
..................................................
...................
.............
................................
..............................................
.................................................
..................................
.......
...................................
.................................
........................................................
...........................................
..........................................
...............................................

(ii1) Studies have shown that vaping leads to an increaseqd number of bacteria on the

teeth. Suggest the dental problem that persons who vape are MOST likely to
develop. Explain your answer.

........................................................
------------------------------------------------------------------------
...............................................
.......................................................................................................
................................................................................................

...............................................................................................

(3 marks)
(iv)  State TWO other negative health effects that could result from the practice of
vaping.
..................................................................................................... P
Total 15 marks
GO ON TO THE NEXT PAGE
01253020/MJ/CSEC 2022
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SECTION B

T T T T IS TE T T T T S SR PSP TE R PR SR e

Answer ALL questions.

Siteiatitalalatilatily

3. (a) Briefly describe EACH of the following processes in the water cycle:

(i)  Evaporation

AU AL

............
.............................................................................................

(i)  Condensation

..........................................................................

(iii)  Precipitation

(iv)  Filtration

EHHTH

T R R R A R T A A T e T A B

B

GO ON TO THE NEXT PAGE
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Lana lives in @ village near to an airport. Although each house in t!w village ha, 3
(b) pes and washing machines flows freely 1nto the gutter, |,

septic tank, water f‘ron? pi ‘ b. b
After heavy rains, the water by the beach ncar to the village becomes 't
service collects garbage once every three weeks, which m"‘“'hf‘"‘;
f large piles of garbage bags between collection dates. n’}‘e

roads. .
The sanitation

accumulalion 0
(i) Define the term ‘pollution’.

.........-------------a-..-...-u.-----c...-................, P i - o

@ .';;;1;-)-

t Lana’s village experiences and state Oy

List THREE types of pollution tha

(i) |
likely impact of EACH type of pollution.

..................................................
.......................................................................

.................................................................................................................................

(6 marks)

01253020MJ/CSEC 2022 GO ON TO THE NEXT PAGE
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i
- Suggest THREE ways in which the residents in Lana’s village could reduce the
negative impacts of pollution.

e (-.;-I-'narks)

Total 15 marks

QYO WRITE Y,
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Figure 6 shows an internal view of the human brain

Cerebrum '

Figure 6. Internal view of the human brain

Source. https://cdn.pixabay.com/photo/2013/07/12/1 6/28/brain-150952 94 7
2OU_ 7y
'pﬂg

(a)  Identify the structures labelled A and B and state ONE function of EACH struct
ure,

.......................................................................................
..........................
...................

---------------------------------------------------------------------------------------------
............................
..........

...........................................................................................................................
................

....................................................................................................................................

...........................................................................................................................................

..............................................................................................................................................

GO ON TO THE NEXT PAGE
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(b)  State ONE example of a spinal reflex action and ONE example of a cranial reflex action.

............................................................................................................

....................................................................................................

in.
(c) Frank awoke from a three-month coma and must now learn to walk aga

; take @
— able him 10
(i)  Explain the process that must occur in his nervous system to €n

step.

O NOT WRITE IN THES AREA

..........................................................

Y IS AREA

...................

GO ON TO THE NEXT PAGE
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y the neurotransmitter that is associated with the progeg j

ldentif

S in (
. N
describe how |

(i) the signal will move from one neuron to another.,

.....................................

.............................................

..........................
.........

.....................................................................
.........................
....................

END OF TEST

IF YOU FINISH BEFORE TIME IS CALLED, CHECK YOUR WORK ON THIS TEST.
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